diverse DFT-Matrizen

N = 16 n=0.N-1
,j .2.p

e-e N

U-0.N-1 €=0.924 - 0.383

V-O.N_1 \e\ =1 Elementarzeiger

DFT16, , - v arg(e) =-0.393  oder -22,5°

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15

01 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
11 092038 0.71-0.71j 0.38-0.92j -1j -0.38-0.92j -0.71-0.71j -0.92-0.38] -1 -0.92+0.38j -0.71+0.71j -0.38+0.92j 1j 0.38+0.92j 0.71+0.71j 0.92+0.38]
21 071071 -l -0.71-0.71j -1 -0.71+0.71j 1j 0.71+0.71j 1 0.71-0.71 -1j -0.71-0.71j -1 -0.71+0.71j 1j 0.71+0.71]
3 1 038092 -071-0.71j -0.92+0.38] 1j 0.92+0.38] 0.71-0.71j -0.38-0.92j -1 -0.38+0.92j 0.71+0.71j 0.92-0.38] -1j -0.92-0.38] -0.71+0.71j 0.38+0.92j
41 -1 -1 1 1 - -1 1 1 -1 -1 1 1 - -1 1

DFT16 =5 1 -0.38-0.92j -0.71+0.71j 0.92+0.38] -1j -0.92+0.38j 0.71+0.71j 0.38-0.92j -1 0.38+0.92) 0.71-0.71j -0.92-0.38j 1j 0.92-0.38] -0.71-0.71j -0.38+0.92j
6 1 -0.71-0.71 1j 0.71-0.74) -1 0.71+0.71j -1j -0.71+0.71j 1 -0.71-0.71j 1j 0.71-0.74) -1 0.71+0.71j -1j -0.71+0.71j
7 1 -0.92-0.38 0.71+0.71j -0.38-0.92j 1j 0.38-0.92] -0.71+0.71j 0.92-0.38] -1 0.92+0.38] -0.71-0.71j 0.38+0.92j -1j -0.38+0.92j 0.71-0.71j -0.92+0.38;
81 -1 1 -1 1 -1 1 -1 1 -1 1 -1 1 -1 1 -1
9 1 -092+0.38 0.71-0.71j -0.38+0.92j -1j 0.38+0.92j -0.71-0.71j 0.92+0.38] -1 0.92-0.38] -0.71+0.71j 0.38-0.92] 1j -0.38-0.92j 0.71+0.71j -0.92-0.38]
101 -0.71+0.71j -1j 0.71+0.71j -1 0.71-0.71j 1j -0.71-0.71j 1 -0.71+0.71j -1j 0.71+0.71j -1 0.71-0.71j 1j -0.71-0.71j
111 -0.38+0.92j -0.71-0.71j 0.92-0.38] 1j -0.92-0.38] 0.71-0.71j 0.38+0.92j -1 0.38-0.92j 0.71+0.71j -0.92+0.38j -1j 0.92+0.38] -0.71+0.71j -0.38-0.92]
121 1 -1 -1 1 17 -1 -1j 1 17 -1 -1 1 1 -1 -1j
131 0.38+0.92) -0.71+0.71j -0.92-0.38j -1j 0.92-0.38] 0.71+0.71j -0.38+0.92j -1 -0.38-0.92] 0.71-0.71j 0.92+0.38j 1j -0.92+0.38j -0.71-0.71j 0.38-0.92]
141 0.71+0.71j 1j -0.71+0.71j -1 -0.71-0.71j -1j 0.71-0.71) 1 0.71+0.71 1j -0.71+0.71j -1 -0.71-0.71j -1j 0.71-0.71j
151 0.92+0.38] 0.71+0.71j 0.38+0.92j 1j -0.38+0.92j -0.71+0.71j -0.92+0.38j -1 -0.92-0.38] -0.71-0.71j -0.38-0.92j -1j 0.38-0.92j 0.71-0.71j 0.92-0.38]
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N:=8 n=0.N-1
-j 2p
e-=e N
U-O.N - 1 e =0.707 - 0.707j
V-O.N-1 \e\ =1 Elementarzeiger
DFTS, , - QU arg(e) =-0.785  oder -45°
(11 1 1 11 1 1 [ 0.13 012 012 013 0.13 013 012 012
1 071- 071 -1i 071- 071 1071+ 071 1l 0.71+ 0.7 0.12 0.09+ 0.09i 0.13i -0.09+ 0.09 -0.12 -0.09- 0.09i - 0.13i 0.09- 0.09i
1 -1 -1 1 1 -1 -1 1 0.12 0.13i -0.12 - 0.12i 0.13 0.12i -0.13 - 0.13i
DETE = 1-071- 071 1l 071- 071 -1 071+ 071 -1 -0.71+ 0.71i — 0.13 -0.09 + 0.09i -0.12i 0.09 + 0.09 -0.12 0.09- 0.09 0.12i -0.09 - 0.09i
14 1 -1 1-1 1 1 | 013 -0.12 013 -0.13 0.12 -0.13 012 -012
1-071+071 -1i 071+ 071 -1 071- 071 1l -0.71- O.71i 0.13 -0.09- 0.09i 0.12i 0.09- 0.09 -0.13 0.09+ 0.09 - 0.13i -0.09 + 0.09i
1 1 -1 -1 1 1 1 -1 0.13 - 0.13i -0.13  0.13i 0.12 - 0.13i -0.12  0.13i
|1 071+071 1i 071+ 0.71Li -1-0.71- 0.71i -1 0.71- 0.71i | | 012 0.09- 0.09 -0.13i -0.09- 0.09 -0.12-0.09+ 0.09i 0.13i 0.09 + 0.09 |
N:=4 n=0.N-1
-j 2p
e-=e N
U=0.N-1 €=
V-O.N-1 \e\ =1 Elementarzeiger
DFT4, , - UV arg(e) =-1.571  oder -90°
11 11 025 025 0.25 0.25
1-1 1 1 1 | 025 025 -0.25 - 0.25]
DFT4 = DFT4 ' =
1-1 11 0.25 -0.25 0.25 -0.25
11 -1-1 0.25 - 0.25] -0.25 0.25j
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